100# =>52 4 B &

R BT ERE 5L ¢ 36060
oA EeE 2
# PR 2 APk
YIRPER L2 P R
NG (—)*ﬂmwﬂdwo
O LAHAL > (TG PERRSAAEAEELE FRRRTA B AR o AL IFE K 0 2 AP0 .
- GRP - AR LETY X oA X kAL RIEE HGHERR o (154 )
= P ARG S RS 2R RS T A RERFAEUR - (104)
= P ¢ (neutron) B Fend £ E¥ 5t > (5 &) 2 ¢ FFEIRDE T
ERRRE - (54)
w o~ ] * A & 40"°Se o OICr o B s kst e % 40°°Cl °H 14(:5% £ 7 Jr
#2808 T g e > TOLEY Ak B Y S G QBB Z P 2
(10 &)
T N EEC G RBEE = Al E gt o (10 4)
T pE N (Cyclotron) ek & 4fig ~ (7% R 1T
- ':'—/p/l)?‘:l 3”)3 ;\:’_"’%H”ﬁ“
% 340cpm - #- 10.0 =
KA:\Hj/»b \T'/?QT' Ij
178cpmo
AN

A -—,\

o %&/pni" d 7.5

A% 2Pk e (154 )
TR e bt 45-60 el o H SR
»wﬂ“”*%fﬁﬁﬁ%ﬁﬂmbb%’%@ﬁ%m
ﬁgﬁkﬁwax’ﬂmﬂ\Eélﬂ3%i’ﬁ%ﬁ%§é
Ff:“ B 'firv//p\ i mﬁ?m/}E}i =3 29 (10 2 )
TR - B ES PERFEFOIRE S NRESLL s BESEE >
fzéFv— %i:j%_%i B* RGP 7 (104 )
1~ 1 2°%Pu > 2P » PSr > MPm > Ce » BICs A PCo % %4t iR Tl A ol 1 T
et R i ? (54 ) L BT AME R AT %35 2 (54)

-k



